
k'jf{wf/ M–?=%(%))))

l;=g+= gd'gf 7'nf] of]hgf

1.1

sf]7/L uNNfL b'j} tkm{ jf6f]df kSsL
gfnL lgdf{0f tyf b'j}tkm{ j[Iff/f]k0f sf]
nfuL ?=

1,000,000

2 ;8s tkm{ of]hgf :yfg
2.1 nfuL jf6f] u|fe]n ug{] uf}8L6f]n, lj=s= 6f]n ltg3?jf 6f]ndf,/fqL

k|f=lj 6f]n s/aNjf 6f]n ;Ddsf]

200000

2.3 gofF ;8s jf3d?jf hf]8|g
100000

2.4 jf6f] lgdf0f{ d'lvof 6f]n b]lv h+unhfg]
100000

2.5
jf6f]df sRrLgfnL / jf6f] u|fe]n sf]

nfuL= dxfb]jf b]lv 3';|f ;Ddsf]
500000

2.7 jf6f] dd{tsf] nfuL = lrdlrd
300000

hDdf 2,200,000

3
l;rfO{ tkm{

 

3.1
df]6/ vl/b @ xif{kfj/sf] ;d/;]jn
kDksf] nfuL_

- sf]7/Ldf # yfg,dxfb]jfdf # yfg,j3d?jfdf
! yfg ul/ hDdf & yfg @

400000

3.2 @ cf]6f eNj kfOk ;lxt ?=
k'j{ yf?sd'fn,klZrd yf?sdfn,pQ/ jfns/fd
ofbjsf] 3/ ;Dd

300000

3.3
l8kjf]/Lª eNj dd{t tyf kfO{k lj:tf/
df]6/ jf3d?jf

300000

hDdf 1200000
4 ejg tkm{

4.1 ejg lgdf{0f ltg3/jf ;fd'bflos 100000

4.2 ejg lgdf{0f 8f8fFufp ;fd'bflos 100000

4.3 ejg lgdf{0f 3';|fufp ;fd'bflos 100000

4.4 ejg lgdf{0f j3d?jf ;fd'bflos 100000

4.5 ejg lgdf{0f lrdld] ;fd'bflos 100000

4.6 hDdf 500000

j*f g+= 2
s'n ah]^ ?= 85,00,000



5 ljw't tkm{

5.1 6«fG;ld6/ !% s]=eL sf] nfuL krlxof blIf0f6f]nsf] nfuL
200000

5.2 kf]n vl/b

udfn 6f]n ljhnL la:tf/ ,:ff=ejg b]lv pQ/
dfg jxfb'/ lj=s=sf] 3/;Dd $j6f kf]n !)))
ld6/ tf/ krxf a8sf uNnL #))ld6/ tf/
^j6f kf]n a3d?jf !)j6f kf]n !%))ld6/
tf/ sf]7/L !)j6f kf]n tf/ dxb]jf @%j6f
#)))ld6/ tf/

285000

6 hnpTkGg

6.1 u'nl/gofF vf]nf t6\jGwg
krlxof t6\jGwg udfn6f]n ! /fd;'/t nf]8sf]
3/ b]lv /fKtL glb

300000

6.2 vf]nf lgoGq0fsf] nfuL sf]7/Lsf] ufp b]lv blIf0f 5f]8nxjf
300000

6.3 s6fg lgoGq0fsf] nfuL 3';|f vf]nf
300000

6.4 s6fg lgoGq0fsf] nfuL dGb]|lg vf]nf 8f8fufp klZrdsf] nfuL
200000

6.5 s6fg lgoGq0fsf] nfuL
vf}/xjf vf]nf bfdf]b/ ;8s b]lv dxtfg 3/
;Dd

200000

6.6 s6fg lgoGq0fsf] nfuL e'Nv] vf]nf ltg3/jf 6f]n ;Dd
265000

6.7 s6fg lgoGq0fsf] nfuL krxf s/aNn'jf 6f]n u+u|] vf]nf
100000

hDdf 1665000

7 nlIft ju{ tkm{ ?=&^%)))

7.1 jfnjflnsf tkm{ !%Ü 382500

7.2 dlxnf tkm{ #Ü 76500

7.3 cflbjf;L hghftL tkm{ 76500

7.4 dw];L d'l:nd / lk58f ju{ #Ü 76500

7.5 h]i7 gful/s tkm{ !Ü 25500

7.6 o'jf tyf v]nv'b tkm{ @Ü 51000

7.7 blnt tkm{ @Ü 51000

7.8 ckfu+tf tkm{ !Ü 25500

hDdf 765000

8 k|j{wgfTds sfo{qmd ?=!&*%)))

8.1 s[lif tkm{

kz' gZn;'wf/ tkm{
50000

9 ;f+:s[lts k|j{4g

9.1 dlGb/ cw'/f] lgdf{0fsf krlxof sf]6xL
100000

9.2 dlGb/ rf}tf/f] dFr lgdf{0f j3d?jf 100000



10 lzIff tkm{

10.1 jfnd}lq ;f}rfno lgdf{0f df=lj=krlxofdf ;'ljwfo'Qm
250000

10.2 gofF kmlg{r/ vl/b gd'gf k||f=lj=dxfb]jf nfO{
150000

10.3 ss{6 kftf vl/b u0f]z k|f=lj=lrdlrd]sf] nfuL
150000

11 :jf:Yo tkm{

11.1 :jf:Yo PsfO lgdf{0f lrdlrd]df
200000

11.2

k|of]uzfnf ;fdu|L vl/b

:jf:Yo rf}sLsf] k|of]uzfnfsf] nfuL

100000

11.3

dlxnf :jf:Yo :j+o ;]ljsf vfhf
:jf:Yo rf}sL

50000

uf8L dd{t k|x/L rf}sL uf]a/l8xf 10000.—

12

vfg]kfgL tkm{

vfg]kfgL of]hgf dd{t ;+ef/ lrdlrd]
50000

krlxof vfg]kfgL ejg cw'/f]
5t9nfgsf] nfuL krlxof

150000

vfg]kfgL 6+sLsf] nfuL !=% OGr df]6/
@ yfg vl/bsf] nfuL gd'gf k|f=lj=dxfb]jf / 5'6\sL uNnL

50000

cGo sfo{qmd

sNe6{ lgdf{0f dxfb]jf 8f8f ufp 100000

Xo'dkfOk $% Pd=Pd dxfb]jf ufpsf] cffZos 7fpdf 85000

o'jf Snjsf nfuL v]]ns'b ;fdfu|L tyf
8«]; vl/b j8f g+ @ sf]

100000

hDdf 1785000


